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   find the limits 
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(A)  -6; (B)  6; (C)  -12; (D)  -4; (E)  4

2. Evaluate the limit
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3. Find the values of a and b that make f continuous everywhere.
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4. Find 
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   Select the correct answer.

  (A) 
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 (E)  none of these
5. If 
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Select the correct answer.

(A)  948;  (B) 836;  (C) 946;  (D) 928;  (E) none of these

6. The position function of a particle is given by 
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When does the particle reach a velocity of 166 m/s?

Select the correct answer.

(A) 
[image: image29.wmf]7sec ;

t

=

  (B) 
[image: image30.wmf]8sec ;

t

=

  (C) 
[image: image31.wmf]5sec ;

t

=

  (D) 
[image: image32.wmf]3sec ;

t

=

 

(E) 
[image: image33.wmf]12sec 

t

=


7. Evaluate the limit, if it exists
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(A)  3;  (B) 
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8. For what values of 
[image: image38.wmf]c

 does the curve have maximum and minimum points?
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    Select the correct answer.
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9. The slope 
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〈背面尚有試題，請翻頁〉
10. Evaluate the definite integral 
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11. Find the area of the region enclosed by the line 
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    (A)  32.75； (B)  31.25； (C)  30.75； (D)  32.25； (E)  31.75
12. Evaluate the definite integral 
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 using the fundamental theorem of calculus.
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15. Find the absolute minimum value of the function 
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16. Find the value of A and B for the form 
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